
ANSWERS– VOLUME 2: EQUILIBRIUM 
Chapter 3, Cross-Sectional Properties  problem 3.20, page 140 
Remarks: See §3.2.2, pages 98 till 100 
                See §3.2.4, pages 101 till 103 
 
Answers: 
 
a.  6 4241,92 10  mmyyI = ×
b.  6 434,56 10  mmyyI = ×
c.  700%
 
Explanation: 
 
Centroidal moment of inertia of each cross-section: 

  6 42,16 10  mmyyI = ×

 
a. { }6 4 2 6 44 (2,16 10  mm ) (120 mm)(60 mm)(90 mm) 241,92 10  mmzzI = × × + = ×  

 
b. 3 6 41

12 (240 mm)(120 mm) 34,56 10  mmzzI = × = ×  
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